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F1E AEEKE
FET EEHZ
e g |BHEXR
& 7 BEDE "msn

(%)
B2 ERREERED — —
H= FEHED 60,600 55%
B = FEm 52,300 55%
B = EnE 41,100]  55%
H=BF 34,900{ 55%
BEHEE 28,700 65%
Mt 56,300]  60%
EEL 43,200]  60%
et 48,200]  55%
I BF 36,400 55%
BEMiEHt L 38,300]  55%

FIE  RETE
FET EEHZ
R TR E S
& EfHE)' B |"gan

(%)
FEEMNE 88,600 55%
HE - BEiE 77,500 55%
FEEED 66,900 55%
b (A) 59,600 55%
b (B) 48,500] 55%
HEm(C) 40,300  55%
Bitig 36,100] 55%

B2E hE - THRE

F18 EERLHE
sz |BHERR
(M) (%)
1t B 5R B 45 B 56,000| 60%
ITEMEHRES 43,800] 60%
HEHES 34.100] 60%




